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FACTORING TRINOMIALS BY SIGHT

1. 22 +3z+2
2. ¥+ 14v+45
3. 2?2 —4x+4
4, z%2-18z+ 45
5. P+p—2

6. z°+2z—8
7. ¥ —4dy—5
8. wl—w—20
9. z2—17z+ 72
10. o® + 8a — 48
11, m?2 —8m—24
12. z* + 18z — 72
13. 1% — 8v — 48
14. w? —8w—9
15. ¢ 4 6t — 27
16. 22+ 4z —5
17. i — 14y + 40
18, 22— 6z+ 9
19. t2+ 10t + 24
20. ¥ +4y+3
21. m®*+6m+8
22. 5%+ 135+ 40
23. 32 — 8z + 15
24. h? — 22k + 40

25. 2 +r—6
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m? +m — 56

x2—6$—16

u? —6u—72

= -2Tc+ 72

p* — 8p - 48

1T+ T2

d*—22d+ T2

P —2p—48

t? — 13t - 48

2+ 14z —- 72

n?+3n—10

a®—3a+2

n?+3n—10

u?+ 12u + 36

¢+ 38g+ 72

e — 13e + 36

m? —22m+ 72

E+k—20

P+ 6y — 72

n® —22n — 48

g> —34g -T2

a’+3a—T0

ut — 4 — 12

2 — 27z + 72

d?—9d 418
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4. z%—18z+45 (X-3 )(X—l5> 2. -2tz +12 _(X—3 Yx-24 )
5. P+p—2 &’P-l-?—Squ-!) 30. 7 —8p—48 L\I-t1)£s(+q)
6. z°+2z—38 (x '“-FWLX ‘7-> 31 4172 + 72 UL-P g )&17 5
7. P —dy—5 Lb;, -5 \LL,;-HB 32, d®—-22d + 72 Li—vﬂ&i-ﬂ
8 w’—w-20 iw 5){}04-‘!) 3. p-2p-48 [P -% V-Pﬂv)
72— 172+ T2 (x- 9= ¢ ) 34 1213t —48 (-1 )(+13 )
10. a® + 8a — 48 (a+1){a -4> 35. 2%+ 14z — 72 (1 V(X -¢ )
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11 m? = 8m— 2§ NE 36. n?+3n— 10 (n+8)n-2)
12. 2° + 18z — 72 NF 37 a®—3a+2 L= Yat)
13, —8v—48 U—llﬂ_\i +'—i> 38. n®+3n—10 (Y\*b’)(_ﬂ—'b)
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